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Ex/Sans/UG/5.3/39/2018

BACHELOR OF ARTS EXAMINATION, 2018
(3rd Year 5th Semester)

SANSKRIT (Honours)

Course : XIII

[ Epigraphy and Arthasastra ]

Time : Two Hours Full Marks : 30

The figures in the margin indicate full marks.

1. õF]ÞP;FÞF ¼WæFÎFF;FÜFFa ˜F PáFÑÜFF ·FÜFO ÒèÎFFO õFÛFFÍFWÜFF:— 1×3=3

(=+) HP¼¶FF˜FFÜFW aµF =+ÜFX: EF˜FFÜFaÜFX: ÒP¶FÛFFÂÜFk ;F ]æFF aÜF¶FÎF W
ÒP¶FòFPÑF¶FÛFh?

(&F) EF˜FFÜFaÑFÞkÑFÞFÜFFk ÚF;FæF¶=]+PèF=+-ÚF;FæF¶ÑFÞFèFÞÜFX: ÛFÍÜFW =+P¶F
EF˜FFÜFFa: EFõFÎFh?

(;F) ÛF»F]ÞFõ¶FÛÚFáFW&FW =W+ðFFk iiPæF£FPÑ¶F: P=e+ÜF¶FW õFkÙFXÍFÎFk ˜Fjj?

(fF) iiÛFF áF]ÑÜF¶FFÛFPÚFÎFæFF æFÎFÛFFPáF=W+P¶Fjj < =+ÜFF =+:
HÑFùPõF¶F:?

(‘~) iièFF&FF;F eáF;ÎFÛF ]&FÞPÂ¡FèFUPáF¶FêFU:jj GP¶F PèáFñW ÑF¼W
ÚFæF¼WæFæFkèFÑF‡FW èFF&FF G¶ÜFõÜF æFkèFæF_‡FÑF‡FW ˜F PÂ¡F G¶ÜFõÜF
E»FFYa ¼WÜFFY—
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2. EÍFXPáFP&F¶FWðF] ÂFY ÒèÎFFY õFÛFFÍFWÜFFY— 6×2=12

(=+) iiEõÜFFk ÑF[æFFaÜFFk ....................... ;F]æFFaÜF¶FÎFW ;F]ß .... ÒP¶FòFPÑF¶FFYjj
< PÂ¶FUÜF˜FÎ½;F]Ñ¶FõÜF ÛF»F]ÞFõ¶FÛÚFáFW&FF¼h HÊ_¶FWNPõÛFÎFh æFFƒÜFW
ÒÜF]ƒ¶Fk ÞW&FF‘~P=+¶Fk ÑF¼k PæFèF¼k æÜFF &ÜFFÜF¶FFÛFh— EPõÛFÎFh EPÚFáFW&FW
õFÛF]½;F]Ñ¶F-˜FÎ½;F]Ñ¶FÜFX: =W+ HÑFFÍFÜF: ¼_èÜFÎ¶FW? ¶FWðFFÛFh HÑFFÍFUÎFFÛFh
æFYPèFñÝk PÎFP¼aèÜF¶FFÛFh— (4+2=6)

(&F) ÚFªÚFæF¼WæFWÎF ÒP¶FPò¶F: ¼WæFFáFÜF: ÞF³¼WèFW JæF EFõFU¶Fh, ÎF ¶F]
ÚF ]æ FÎF WèæFÞ W, GP¶F ÚFªÚFæF¼ WæFõÜF ÚF ]æFÎF WèæFÞÒèFõ¶ÜFF:
;FeÎ»FÑFÜFFaáFX˜FÎFWÎF Ò ¼èÜFa¶FFÛFh— =W+ÎF Ò=+FÞWµF EÜFÛFPÚFáFW&F:
ÚF]æFÎFWèæFÞõÜF EÎFÎ¶FæFFõF]¼WæFFPÍFòFÎFk ÒFÑ¶F:? (3+3=6)

(;F) ÚFªÚFæF¼WæF: =k+ ÞF¡FFÎFk õFWPæF¶FæFFÎFh? ¶FWÎF ÞF£FF õF: =+PõÛFÎFh
ÑF¼W PÎFÜF]ƒ¶F:? ¶FõÜF =+ÛFaÎFYÑF]µÜFF¼h EõFFY ÞF¡FF =+»Fk õFÛF_PÊk
ÒFÑ¶FæFFÎFh? õF ÞF¡FF ÒèFõ¶ÜFÎF]õFFÞk æFµÜFa¶FFÛFh—

(1+1+2+2=6)

(fF) PÎFÛÎFXÊ_¶FW õFk¼ÚFaÂÜFW PÂ¶FUÜF˜FÎ½;F]Ñ¶FõÜF ÛF»F]ÞFõ¶FÛÚFáFW&FõÜF
õFkÑFFP¼¶FFY EkèFPæFèFWðFFY ¼_èÜFW¶FW— E·F ÜFF õFkÑFF¼ÎFÑFÊP¶F: EFPêF¶FF
¶FõÜFF: æÜFF&ÜFF =+FÜFFa— (3+3=6)

(E) 10 ;F]ææFFaÜF¶FÎFW ;F]ß ..... 5ÒP¶FòFPÑF¶FX6 (—*)ÎFY <

11 ¶F¶&ÜFF¶ÜF»FaÛFPÚFPáF[&ÜF¶FW] (—*) [E»F*]

(EF) 16 æFF1 [õF] ÑFk̃ FPÚFÛFaù[F*] ÑFF¶F=Y+ßÑFÑFF¶F=Y+è˜F
õFkÜF]ƒ¶FõõÜFF¶Fh (—*)

17 ¡FÜFP¶F ˜F ÚF;FæFF[µ°µ°:]2ß½¼µ°X(N*);Fe[ÎFF]ÜF=+X
PÎF¶ÜF[- ]  (¶ÜFÛFh) (——*)
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3. õF]ÞP;FÞF ¼WæFÎFF;FÜFFa ˜F PáFÑÜFF ·FÜF: ÒèÎFF: õFÛFFÍFWÜFF:— 1×3=3

(=+) ¡FÎFÛFW¡FÜF: E¡FPÙFÎ¼]è˜F =+»Fk PæFÎFñFY?

(&F) ÞF¡FPðFaæF_̧ FÛFh EF˜FÞÎ¶Fk PæFP¡F;FUðF]k ÞùPõF ÒÛFFÃÎ¶Fk =W+ =+»Fk ˜F
PÎFÜFÛFÜFWÜF]:?

(;F) æFYæFõæF¶FÛFÎFX: =+U¼_èFk ÚFF;FÍFWÜFk Ò¡FF: Ò=+áÑFÜFFÛFFõF]:?

(fF) ÚFX;FWÎFFõFk¶F]ñ: æÜFõFÎFU ˜F ÜF»FF=e+ÛFk =+PõÛFÎFh =_+¶ÜFæF;FaÂÜFW
EÎ¶FÚFaæF¶F:?

(‘~) EF¶ÛFõFkÑFÎÎFk ÑF]·Fk =+PõÛFÎFh ÑF¼W õ»FFÑFÜFW¶Fh ÞF¡FF?

4. EÍFXPáFP&F¶FWðF] ÂFY ÒèÎFFY õFÛFFÍFWÜFFY— 6×2=12

(=+) EÑFßÊèFÙ¼õÜF =+XN»Fa:? EÑFßÊõÜF J=+˜FÞõÜF ÞF¡FÑF]·FõÜF
=+U¼_èFk æF_̧ Fk =+FYP©áÜFWÎF HÑF P¼èÜF¶FW? (1+5)

(&F) =e]+ÊæF;Fa-ÚFU¶FæF;FaÜFX: õæFàÑFÛF]ƒ¶æFF ¶FÜFX: HÑF¡FFÑF: =W+ÎF
Ò=+FÞWµF =+¶FaæÜF GP¶F PæF PæFeÜF¶FFÛFh— (3+3)

(;F) ÞF¡FÑF ]·FÞ‡FµFÛF h GP¶F ÑF¼õÜFF»F a: H˜ÜF¶FFÛF h— ¶FPÂðFÜF W
=+FYP©áÜFÑF[æFFã FFÜFFaµFFk ÛF¶FFPÎF õFÛFFõF¶F HPááF&ÜFÎ¶FFÛFh— (1+5)

(fF) GPÎ½ÜF¡FÜFèFÙ¼õÜF =+FYP©áÜFõFkÛF¶FF æÜFF&ÜFF HÑF õ»FFÑÜF¶FFÛFh—
ÞF¡FPðFaæF_̧ FÒõF”W~ P·FæF;FõFWæFF =+»FÛFh HÑF P¼èÜF¶FW? (3+3)

____________
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